[ Nof associated (recoToSim) tracks vs dxy(PV) [ of associated (recoTosim) looper tracks vs dxy(PV)
YV EEEEE E ¢ T
R IR R I £ £ g
10 F % 10 %
104 -i- i ;‘
10°
10% = -- e
102 I' ........................
: ER O HE §
o 1U°J H o o - E fl H‘ Hl o I '“L """ """"""" I
‘H il o sl O IRREN TRy "yp w .
i ‘M ”L“ ,‘ um i HUW \‘u‘: ”J ‘M 3 ng i e
1 f . ] H
325 20 15 IHJH 0 o 15 20 25 g25 o 15 | ! 0 Mw 15 20 25 b=y is 1 ‘ 0 ‘ 1915 3525 95 ”HHHH” i h 5 M ”HM”MM' H 5
tracl Y(PV) (;]q:l Hrrs—o | | lal track dxy(PV) (cm) - track dxy(PV) (cm) track dxy(PV) (cm3
i inus—n
— <§M g Mmus:o LesE
[Nof reco track vs  ———— D Inus—ne ess [Py
% R g : % ----------------------------- g
g £ B £ g
g 101 re % 10° §
g
T AR EE TR R AR 10° °
b R I
e 10° """""""" e
g JiH ”Hu” %*“ 1 ”\U“" g 12 it ‘“\I‘H ‘ 1 HH”II g
z |- i & HIH“‘ L
e il \”PMH ‘” }' ‘ ‘H,l ”H ; o it IHrn ” ‘ Uil el 1) i ‘;l
ol /I H\U |Wu Ll . nn L
—1—0 8-0.6-0.402 0 02040608 1 o m0.6-0.60.4025 02 0.4 .6 8 .8-0.6-0.4-0. .
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) Irack dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
g g £ g :
----------------------------------- 5105 e f‘; ‘;_,5104 ----.-----.-----E.-----.------.-----
I -
2 :
10* L R R AR AR ALRA AL

10?
o+ o +v o °
T T T T
24 o 24 @
~, ! »‘ : 095
A o L . ol a 1 E s
055 20 -i0 0 10 20 30 °%6- 20 -10 0 10 20 30 -30 20 -10 0 10 20 30 5050 —10

track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of reco track vs dz(PV) N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
2] 1%} 123 0
X X . . . . . X i1
[=} Q [5] (=)
g g g 8
= E = =1
[} Q1 Q
E g
=
=]
o
10%f;
10
=] e Q o | S
g g £ iIIIEIIIIIIIIIIIIIIIIIiiI RN |III|I|I|IiI|II| g |
14 o 14 o I

- l' I

EHI""
Ll

L B

- 05 0 05 1 . .
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)



	Contents
	Page 1


